

Community Park Tennis Complex**

Outside Courts at 365 John Street, Princeton NJ 08540

Registration Opens August 1st, 2024, at 7:30 am

JUNIOR PROGRAMS for 5 to 17

The 12 and Under Program follows USTA guidelines for players aged 5 to 12, featuring ageappropriate courts and equipment.

September9th - October 20th

- 6-week sessions Thursday to Monday classes
- 5-week sessions Tuesday and Wednesday classes (No classes on 9/17/24 after 12pm and 9/18/24 before 4:30 pm)

Register online at www.ptp.org
Annual Pass Holders receive 10% discount
Account Credits – call (609) 520-0015 for registration

Youth Red Ball Class Offerings

Youth Tennis - RED BALL 1 (5 & 6 years old)

Introductory class emphasizing athletic skills, basic strokes, and fun. Students learn groundstrokes and volleys in a supportive setting.

Day	Time	Price	Dates
Monday	4:30 - 5:15 pm	\$132	9/9 - 10/14
Wednesday	4:30 - 5:15 pm	\$132	9/11 - 10/16
Friday	3:45 - 4:30 pm	\$132	9/13 -10/18
Saturday	9:00 - 9:45 am	\$132	9/14 - 10/19
Sunday	9:00 - 9:45 am	\$132	9/15 - 10/20

Youth Tennis - RED BALL 2 (7 & 8 years old)

This class focuses on improving stroke mechanics such as rallying with groundstrokes and introducing basic serve and volley skills in a fun, relaxed, and encouraging environment to develop tennis skills effectively.

Day	Time	Price	Dates
Thursday	4:30 - 5:15 pm	\$132	9/12 - 10/17
Friday	3:45 - 4:30 pm	\$132	9/13 -10/18
Saturday	10 - 10:45 am	\$132	9/14 - 10/19
Sunday	10 - 10:45 am	\$132	9/15 - 10/20

Youth Orange Ball Class Offerings

Youth Tennis - ORANGE BALL 1 SKILL BUILDER (7 – 10 years old)

This class emphasizes proper technique, grip changes, rallying improvement, and mastering service returns, approach shots, volleys, and overheads in a fun and encouraging environment to enhance student's tennis skills.

Day	Time	Price	Dates
Monday	5:30 - 6:30 pm	\$180	9/9 - 10/14
*Tuesday	4:30 - 5:30 pm	\$150	9/10 - 10/15
Friday	4:30 - 5:30 pm	\$180	9/13 -10/18
Saturday	11 am - 12 pm	\$180	9/14 - 10/19
Sunday	11 am - 12 pm	\$180	9/15 - 10/20

Youth Tennis - ORANGE BALL 2 CONNECTORS (7 – 10 years old)

This class is for orange ball players who can rally and serve. They will learn competitive strategies for singles and doubles tennis, reinforcing technical skills in a positive, active environment to develop and enhance their abilities.

Day	Time	Price	Dates
*Tuesday	5:30 – 7 pm	\$210	9/10 - 10/15
Wednesday	4:30 - 6 pm	\$252	9/11 - 10/16
Thursday	5:30 - 7 pm	\$252	9/12 -10/17
Saturday	10:30 - 12 pm	\$252	9/14 - 10/19
Sunday	11 - 12:30 pm	\$252	9/15 - 10/20

Youth Green Ball Class Offerings

Youth Tennis - GREEN BALL 1 SKILL BUILDER (9 – 12 years old)

This class is for 9 to 12-year-old beginners using green dot balls on a regulation court. It focuses on building groundstroke, volley, and serve techniques in a fun and encouraging environment to develop tennis skills.

Day	Time	Price	Dates
*Tuesday	4:30 - 5:30 pm	\$150	9/10 - 10/15
Friday	4:30 - 5:30 pm	\$180	9/13 - 10/18
Saturday	12 - 1 pm	\$180	9/14 -10/19
Sunday	11 – 12 pm	\$180	9/15 - 10/20
Sunday	4 – 5 pm	\$180	9/15 - 10/20

Youth Tennis - GREEN BALL 2 CONNECTORS (9 – 12 years old)

This class is for green dot ball players who can rally and serve. It reinforces technical and tactical skills, focusing on racquet head speed, groundstroke spin, and self-reliant decision-making. Students develop an understanding of competition and enhance their skills in a positive, active environment.

Day	Time	Price	Dates
Monday	5:30 - 7 pm	\$252	9/9 - 10/14
*Tuesday	5:30 - 7 pm	\$210	9/10 - 10/15
Thursday	5:30 - 7 pm	\$252	9/12 - 10/17
Friday	4 -5:30 pm	\$252	9/13 -10/18
Sunday	1 – 2:30 pm	\$252	9/15 - 10/20

Teen Tennis - GREEN/YELLOW TEEN (13 years and older):

This class is designed for 13 and older teenagers new to the game of tennis. The focus will be on technique for groundstrokes, volleys and serves. Both green dot and yellow balls will be used to benefit the student's development in a positive and encouraging environment.

Day	Time	Price	Dates
Monday	6:30 - 8 pm	\$252	9/9 - 10/14
*Tuesday	6 - 7:30 pm	\$210	9/10 - 10/15
Thursday	7 - 8:30 pm	\$252	9/12 - 10/17
Friday	5:30 - 7 pm	\$252	9/13 -10/18
Sunday	4 - 5 pm	\$180	9/15 - 10/20

Youth Yellow Ball Class Offerings

Youth Tennis - YELLOW 2 CONNECTORS (11 years and older)

This class focuses on baseline rallying and serving, reinforcing technical and tactical skills while encouraging self-reliant decision-making in a positive, active environment that supports student's skill development.

Day	Time	Price	Dates
*Tuesday	4:30 - 6 pm	\$210	9/10 - 10/15
Wednesday	6 - 7:30 pm	\$252	9/11- 10/16
Thursday	7 - 8:30 pm	\$252	9/12 -10/17
Friday	5:30 - 7 pm	\$252	9/13 - 10/18
Saturday	1 - 2:30 pm	\$252	9/14 - 10/19
Sunday	2:30 - 4 pm	\$252	9/15 - 10/20

Youth Tennis - PERFORMERS- GREEN, AND YELLOW

This class is designed for students who are match ready. These students can serve, rally, keep score and have been rated eligible or need to try out. Footwork, strategy, consistency, and full court match play will be evaluated.

Day	Time	Price	Dates
Wed (yellow)	6 - 7:30 pm	\$252	9/11 - 10/16
Thurs (green)	5:30 - 7 pm	\$252	9/12 - 10/17
Thurs (yellow)	7 - 8:30 pm	\$252	9/12 - 10/17
Friday (green)	4 - 5:30 pm	\$252	9/13 - 10/18
Sat (yellow)	9 – 10:30 am	\$252	9/14 -10/19
Sat (yellow)	1 - 2:30 pm	\$252	9/14 - 10/19

High School Tennis Training - HIGH SCHOOL TRAINING

Players should consistently hit medium to fast-paced shots with good placement and depth, demonstrating proficiency in spins, grips, movement, and footwork. The focus is on developing tactical variety and strategy through diverse match scenarios.

Day	Time	Price	Dates
*Tuesday	7 - 8:30 pm	\$210	9/10 - 10/15
Sunday	9 - 11 am	\$318	9/15 -10/20

Refund Policy: Princeton Tennis Program is a non-profit organization that offers the community high-quality programming at a lower cost. To keep our administration cost to a minimum we do not offer refunds. PTP Account Credits may be issued in those circumstances where injury has occurred, and a doctor's note is provided. See full policy at ptp.org.

^{*5-}week sessions Tuesday and Wednesday classes (No classes on 9/17/24 after 12pm and 9/18/24 before 4:30 pm)

^{**}Inclimate weather: Indoor backup at 92 Washington Road, Princeton NJ 08540